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4,4
-2,9
-1,8
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1,7
0,2
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-3,3
1,0
4,0
1,0
-3,3
1,0
2,9
-3,3

Paar IMP Imps

0,1
0,1
0,1
0,1
0,1

-1,0
0,1
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Paar IMP
0,4
0,4

-6,7
0,4
-0,4
10,6
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Paar IMP Imps

0,6

Paar IMP
-1,9
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-1,9
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-10,8 -3 101 O6Y = &3 980 103 -3 10,8
1,5 0 2 049 +2 43 480 8 0 -1,5
1,5 0 5 049 +2 48 480 106 0 -1,5
1,5 -2 7 049 +2 95 480 204 2 -1,5

-1,7 -3 3 S 49 +2 910 40-% 40-% 1 -3 ~-1,7
1,5 0 108 O 49 +2 43 480 202 0 -1,5
Paar IMP Imps NS Kontrakt Aussp.  Ergebnis OW Imps Paar IMP
-1,3 -8 6 N2 +1 YD 140 105 8 1,3
34 3 4 02SA-3 &3 300 107 -3 -3,4
0,6 3 101 O 3% -2 #®8 200 103 -3 -0,6
-9,3 -9 2 N2# -2 YD 200 8 9 9,3
79 8 5 0O3#& X-2 #8 500 106 -8 -7,9
06 -3 7 0O3% -2 @6 200 204 3 -0,6
-2,4 -3 3 N2# = ¥D 110 1 3 2,4
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Paar IMP Imps NS Kontrakt Aussp. Ergebnis OW Imps Paar IMP
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0,1 2 5 S3& -1 YD 50 106 -2 -0,1
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